Converting Between ml, cl, I and ki (E)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.
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1. Convert 48.800.000 cL to kL
2. Convert 3.090.000 mL to kL.
3. Convert 7,949 L to cL
4. Convert 7120 mL to L
5. Convert 0,355 cL to mL
6. Convert 720 cL to mL
7. Convert 0,00021 L to mL
8. Convert 847.800.000 mL to kL
9. Convert 692.000 L to kL.
10. Convert 0,268 L to cLL
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Converting Between ml, cl, 1 and kI (E) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.
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. Convert 48.800.000 cL to kL.

48.800.000cL ~10+10+10+ 10+ 10 = 488 kL
Convert 3.090.000 mL to kL.

3.090.000mL +10+10+10+10+ 10+ 10 = 3,09kL
Convert 7,949 L to cL

7,949 L X 10X 10 = 794,9 cL

Convert 7120 mL to L

7120mL +-10+10+-10=7,12L

Convert 0,355 cL to mL

0,355cL x 10 = 3,55mL

Convert 720 cL to mL

720cL X 10 = 7200 mL

Convert 0,00021 L to mL

0,00021 L x10x 10 x 10 = 0,21 mL

Convert 847.800.000 mL to kL
847.800.000mL -10=-10+-10+-10=10+ 10 = 847,38 kL

. Convert 692.000 L to kL

692.000L =-10+-10=10 = 692KkL
Convert 0,268 L to cL
0,268 L X 10x 10 = 26,8 cL
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